Example 1. Let A be the algebra given by the quiver
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bound by Ao, ay, Ay — du. The Auslander-Reiten quiver I'4 has as a generalized standard compo-
nent a coil I' of the form
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where one identifies along the vertical dashed lines.



Example 2. Consider the algebra A given by the quiver
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bound by aA = 0,9\ = 0,pA = 0,p0 =0,pd = 0,01 = 0. The Auslander-Reiten quiver I'4 has as a
generalized standard component a generalized multicoil I" of the form
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where the indecomposables are represented by their dimension-vectors and one identifies along the
00

vertical dashed lines to form the generalized multicoil. Moreover, U = 15%0, V = 10%05 W = 10%00>

100 110 111
the indecomposable A-module with dimension-vector W is injective, the indecomposables A-modules
00 00

with dimension-vectors yo'o1, 00’00 are projectives and we identify the two copies with dimension-
100, 100

vector U, the two copies with dimension-vector V', and also the two copies with dimension-vector
w.



